MOTOR SPECIFICATIONS:

3/4 HP motor to include an open drip proof motor removable without
resetting of limit switches, reversing magnetic controllerin NEMA 1
enclosure, planetary gearbox for drive reduction, electric brake and an
auxiliary chain operator. Includes magnetic contactors, UL listed thermal
overload protection, rotary limit switches, safety edge circuit and
transformer with 24 volt control secondary, delay on reverse, and a door
closing warning signal. Pre-wired to a terminal block using color coding of
the wires to facilitate troubleshooting.

CURRENT CHARACTERISTICS:
120V 1PH 60HZ

Electrical current must be verified in writing before job is
released for manufacture; current verified and found correct.

ELECTRICAL EQUIPMENT LIST:

1 - Three button push button station "OPEN-CLOSE-STOP" in

NEMA 1 enclosure, surface mounted.

"SUPPORT TO RUN TO TOP OF COIL"

BOTTOM BAR LOCKING:

QUANTITY & MARK:
(1)

MATERIAL & FINISH:

Front slat - Galvanized steel with GalvaNex ™ coating system.
Finish color: Cornell gray

Back slat - Galvanized steel with GalvaNex ™ coating system.
Finish color: Cornell gray

Bottom Bar - Aluminum, mill finish

Guides - Structural steel, Cornell gray polyester powder
coating
Hood - Galvanized steel with GalvaNex ™ coating system.
Finish color: Cornell gray
Plain Steel - Powder coated Cornell gray

Signed:
6-3/4"+ 6-3/4"+ 1oms
e
MID-HOOD SUPPORT _‘
(RROVIDED); SOLID WALL
oo_,_maxcm%_\ow_aﬂmmmm.v 1-1/2" TOP HOOD BEAD —_|
|
_ o v~ "
N—""" D'HOOD _—~ . ~
! P H
SPRING — | _ _ i - T I \@
ADJUSTOR A (] -
4y .7 o
THERMISER® 'Z-TYPE' LINTEL |\\
ROLLING DOOR BRUSH SEAL
# 22/22 GA. INSULATED FLAT SLATS
= =
I I
= Q 9}
5 £ £
w =
5|t o2 9§
Tlo = Ko}
I < I 18 5
i S 2
/ & & i
ASTRAGAL ~ g 3
.~ GUIDE SEAL CHAIN KEEPER, >cx__._>x<w
PADLOCK BY OTHERS HAND GHAIN
| MAX. 1/4"@ SHANK
o
OPENING WIDTH
—f—172" o 1/2" —|—
6 3/4"— 18"1 P
DISTANCE BETWEEN GUIDES
S0 T PROBUST e ELEVATION (COIL SIDE) AND SECTION VIEW R ——
wir stor | MFW 6F 22GP |5 ing Date:05/26/11 Time:16:12:33:88 See drawing # _Web999134 001 B for guide detail. ESD20 Web999134 001 A
AGENT:
=< %W EEEES OPERATED ROLLING DOOR SoTRATOT
SAFE AND SECURE JoB:
— [ORIGINAL DRAWING WEB ROLLING STEEL INSULATED SERVICE DOOR [Argriecs
# REVISION DATE BY www.cornelliron.com




purposes only and does not
requirements. Wall const

shall be in accordance
jurisdiction requirements.

714"
6 1/4"
212"
7
’
1 L\ ~
o m__:ﬁ 113/16"
PACKOFF Lﬂ,ﬁ x 38" FLAT (TYP) |
(TYP)
_ 11/8" 43/4"
\——m—
47X 312" x 14" ! I I 21806

U T 11722 19/16"
\ i
_ 5
_

! N

! WEATHERING

I

I

u

GA0437 -4 3/4"

WALL FASTENERS:

AT 36" ON CENTER

- SIMPSON WEDGE-ALL, 3/8 x 3-1/2"
MIN. 3000 psi CONCRETE REQD.
MIN. 5-3/4" EDGE DISTANCE

MIN. 2-9/16" EMBEDMENT DEPTH

CP0001 SLAT

| ~1"

ASSEMBLY FASTENERS:

AT 28" ON CENTER

- SCREW, HEX HEAD, GRADE 8, PLATED,
3/8-16 x 1 1/2"

- (2) - WASHER, FLAT, STEEL, PLATED, 3/8"N,

0.406 ID x .8125 OD X 0.062 THK
- NUT, HEX, GRADE 8, PLATED, 3/8-16

71/4"
6 1/4"
AN
21/2"
113/16" - _
_ 3"x2"x 3/16" (TYP.) T‘
71
4 3/4" 11/8" w _
|
215/16" ‘ L _ 4" x 31/2" x 1/4"
19/16" |~ :N..v_ X X
} J
c |
t
|

3-1/2" x 3" x 1/4" (TYP.) |\

3/16" STEEL BRACKET PLATE ABOVE

GA0437 -4 3/4"

WALL FASTENERS:

AT 36" ON CENTER

- SIMPSON WEDGE-ALL, 3/8 x 3-1/2"
MIN. 3000 psi CONCRETE REQD.
MIN. 5-3/4" EDGE DISTANCE

MIN. 2-9/16" EMBEDMENT DEPTH

MK:

PLAN OF OPENING

ASSEMBLY FASTENERS:

AT 28" ON CENTER

- SCREW, HEX HEAD, GRADE 8, PLATED,
3/8-16 x 1 1/2"

- (2) - WASHER, FLAT, STEEL, PLATED, 3/8"N,
0.406 ID x .8125 OD X 0.062 THK

- NUT, HEX, GRADE 8, PLATED, 3/8-16

FRONT SLAT INSTALLERS NOTE:
1 7|/~ POLYURETHANE MAINTAINING FACTORY SET GUIDE GAPS IS CRITICAL
INSULATION TO THE PROPER OPERATION OF THE DOOR AND IT'S
ABILITY TO WITHSTAND THE DESIGNED WINDLOAD!
—— EXTERIOR 18'-0"
OPENING WIDTH ENDLOCK DETAIL
3 CP0629 CAST IRON ENDLOCK /
WINDLOCK ON ALTERNATING
/[ SLATS WITH 2 x 1/4" RIVETS. )
@ BACK SLAT m _
— 172" 142" —|— ,
181" CP0629
06-25-2010 |PRODUCT CODE: DISTANCE BETWEEN GUIDES _ MODEL # JOB#
TD4_475WL MFW 6F 22GP Drawing Date:05/26/11 Time:16:13:48:08 ESD20 Web999134 001 B
AGENT:
PP [P e s W s s I e S e ®
Wmmw %Hm m THERMISER ..OC_D_m ASSEMBLY
=< R EEEEsEs 4-3/4" PACKOFF
SAFE AND SECURE JOB:
— |ORIGINAL DRAWING WEB ROLLING STEEL INSULATED SERVICE DOOR |mRairecT
# REVISION DATE BY www.cornelliron.com




